BINOMIAL PATTERN

Try expanding the expression (1 + a) " for various values of
n. Do your rough work elsewhere, and fill in only the final

answers below.
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(1+a)°=

(1+a)®

Now take a coloured marker and rewrite the coefficients
(including any “ones” which we normally don’t write).

Compare the value of n with the row in Pascal’s Triangle
which contains the coefficients.

Rewrite each of the above lines, letting a=1.
Can you make any conclusion?

Compare your answer with the ants in the maze...



The Binomial Theorem

7. Using the copy of Pascal’s Triangle you completed in EX@fc{sé 3.1,

Question 5, expand each of the following.
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5. Expand and simplify each of the following.
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6. Expand and simplify each of the following.
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7. Fihd the first four terms in the expansion of each of the following.
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‘4 In the expansion of (1 + x), the first three terms ‘are
I — 18 + 144. Find the values of x and n.

15. In the expansion of (1 + ax)", the first three terms are -
I'+ & + 10 Find the value of a and n. ’

(f) (x + \/53)“

16. The polynomial (p + gy is expanded in decreasing powers of p.
The second and third terms have equal values, where p and ¢ are
positive numbers whose sum is one. What is the value of p?
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